EARAROBEEIERT — 2 N— IBISH —F 20135F9A7H (+) sm=H1H

m B—3 B #5%—## (w8 | imEmml - |5 6) oo s
[AE£] 1% :110,000"  23%&:28,000 "  33%&:14,000”  43%&:9,000H ~ 53 :6,000H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R AAH : -1-1- — Arhfh— (FH)
1 . B ZEEUER ED [l B U s
A2 :Henny Hughes B}:/S—7 17 hF+ > 2 H—L— - TvIN> - T7—LBERS
S . R :25. -3-4- 2| = EEEE (EH)
2 6 < R T4=) 4 4 i 1(235)3 3-3-4-4 |39.2 5 (5:); E:’;‘;E%
RZRXHTK BiTU—bHII— K EEEDL ¢
PN it 6 | LANF 1:25.4 3-3-3-2 |39.4| — 4 448 | FHIA (&H)
3 3 i R g 56.0 (1/2) (7) | ZEBHS
LT Y TFr BIIA 44 RAXT RIRAUS
. . =ES : 12— — mER— (&)
alglg|T—WE7y7 410 556_0 1.(215).6 2-1-2-3 | 39.7 3 (4;4) gﬁy}
R4 >IT7A— BA—JINISUF BlEie]
e . FEFRITE] -26. 87— . — BIFFRET (FH)
5177|271 X 6 56.0 1(236)2 TETS 8T ? :gl) ‘F;ZTE‘A(EK
L:7A7% B FXEZRLZR RS
L5 i :26. ~6-6- . = FRA (ZH)
6111 L—>54 Ry — 4 5 S 1(226)6 7-6-6-5 | 40.3 6 (4_3;) Bk
R:vyI2E>Z BAYCALT (4 — W7 7 — 4
L2 44 | THIEZX 1:27.0 5-5-5-5 | 40.6| — 8 470 | BAAKEE (SH)
718l9| FNZT A1 ~54.0 ) o | B
R:TIRAFIRIN B:T7FY—-—<T vy AEXERE
"_ . ERE . 2 o — WMARRE) (1)
glsls| X5—T51 k t> 6 | B 1.(227).4 6-7-8-8 | 40.4 9 <4+732) *3$%E
R:aAvrE—A>F—7 B:Va15> AR EKS
N FEILRaE :29. -9-9- . - AAREE) (FH)
9 4l EY R FN— 5 Bwtas (1;{9&5) 9-9-9-9 | 41.9 7 ig? ol
L:Urh—>r Bieb/IAK AR R
® I—F—@EBIERL
13=3r= 2,8,(3,6),9,5,(1,7) ,4
2T =7= (2,8),(3,6),9,1,5,7,4
T =35r= 2,8,3,6,9,1,7,5,4
40—F— 2,3,8,6,(1,7,9),5,4
[ RN
B 2 140/ 794K 2-6 480 & 2-6 1,310 &R 2-3-6 1,660M
# B 2 1004 2=3) 240 B E 2-6 1,310 EE 2-6-3 7,130
6 1609 3-6 880M B H 2-6 2,050M
3 1009
ABICOVWTRHDTERERRODLDE, THERLE,




